Representing Hundredths on a Place Value Grid
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These are the sentence stems

4.

[image: ]Note: The wording is a bit funny. You can put the counters in different columns but you can only use 4 counters altogether.




If you can’t manage every single question on the sheet, don’t worry. Just do whatever you can  
If you are really struggling, just have a go at drawing some place value grids and putting these numbers into them: 

3.45             2.34                  5.67                 3.05                 4.32                      1.23                        0.07

Answers: 

1. There are 2 ones
There are 3 tenths

There are 4 hundredths
The decimal represented is 3.04
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3. This question has a lot of possible answers

4. [image: ]These are the possibilities you could make with 4 counters: 
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4,31,301,22,
21,202,13,121,
112,103,04,031,
022,013,004
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Write the decimal represented in each place value grid.

G § Terte [ i | There are_ones.

00 + ) There are __tenths.

Ones § Tenths | Hundredths |  There are __hundredths.

+ [eXe)

The decimal represented is __

Make the decimals on a place value grid.

034 215 003 101
Use the sentence stems to describe each number.
Represent the decimals on a place value grid
and in a part whole model.

How many ways can you partition each number?

027 072 062
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Use four counters and a place value grid.
Place all four counters in either the ones,
tenths or hundredths column.

How many different numbers can you
make?
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